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A male came upon her; she is disqualified — 5T9102 137 YRy 1YY

OVERVIEW

The (cited) 71wn states if a bird rested on the 779 it is still fit to be used as a 779
17X (since the owner is not pleased with this); however if a male came upon the
775 she is not fit to be a MR 779 (since the owner is pleased, for the male will
impregnate her and she will have calves). Our mpoIn discusses how we measure
the pleasing aspect (7°7 nn°1) of the owner.

mooIn asks:
= 1999 INHIN MINN ON)

And if you will say; why is the 775 disqualified from being a 72178 7 in the case of
N7 OV 9V -
- Lo 927 Yrava 05995 MNTY N9 POONY 7Y NN XY INTI NN

for the owner is certainly not pleased to lose the use of this 775 for a 77X 779
which is very profitable, because of a paltry gain of having calves.

N1B0IN answers:
- 1PYWANY PR 7991 2795 XN MYN NPWI 9N ONT Y U

And one can say; that if we would rule that she is 79°@> (if 757 % 17%Y) then it
would be 7% 8r°1, so therefore we cannot be 2227 the 77».

nvoIn asks:
= 199997 997 NYYY NYYN NIV NN Ym0 INDN S P99 10251 9NN ON)

And if you will say; why is she 77w> in the case of w71 mpan» 7o°157; what is it
any different from the case of 127 79%¥ 7199 where she is 5797e5.

' The owner is very unhappy that 121 5y 7% (if this disqualifies her as a 717% 779) for he would much rather sell
her as a 77X 719 (which fetches a high price) than having her have a calf, which is a minimal profit.
2 If we would rule that she is 77w because he is not 7°% X to lose out on a IR 1179, then he would be &4l that
751 799y 1%V (for he is happy to have calves [in addition to her being qualified for a 7178 779]); in which case (since
he is 72 ®1) it would be 72109, in which case it is not 777 &1 We would be going around in circles. Therefore we
rule that we only take into consideration whether this act per se (without the consequences it would have regarding
its status as a 717X 779) is 7°2 Xn°1 or not. In the case of 131 Y Y it is 77 R (if we ignore the consequences of
MR 799) and by 7w %Y 19w it is not 7 Rl
3 See X, (on the bottom).
* The owner is happy that she is (helping with the) threshing. [m9o1n had just concluded that we judge 7% X1 on
this act per se (without considering any ramifications regarding its suitability for a 77X 779); the owner is
(presumably) happy with her threshing.]
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Mo0IN answers:
- SAnwrTa ©1va NN PRY NNYITA DD XN XY ONNT 9D U

And one can say that there (by 77277 70°127) he is not pleased with her

threshing, for he profits nothing from her threshing, the reason is -
= ANIANND NYIT 99N INDAT

That without her threshing, the grain will be threshed by the other animals.

mooin offers an alternate answer:
- Smamy0nY NY DN PN NANDM X¥D NN N9 ONDT W9 N1N2 129 29

And 7791 9" explained that generally a potential 717X 199 is presumed to be

young, and presumably a person does not want to burden this young 7779, therefore
it is 72 X1 KO,

nvoIn asks:
= 195019 09N PPWIN NRYIUN 229 NN N9 71)5‘\‘1 N 9NN ON)

And if you will say; but we learnt in a 71w»; ‘a pregnant cow; R''9 is 9vwon it

for a 717X 7719 and the 2°7517 are »212° -
= 1999 997 NYYY NHY 9N NI

And here the 71wn states if a 921 was ;799 7% she is 79192; how can X" be “"wan by
a N721vn 799 since a 131 was 7YY v ?!

n90IN answers:
= 1990197 DN NINT 9190 W

And one can say that the 71wn here (of 101 % 79Y) is according to the 2omam

only who are %812 a n12w» 779 and X" disagrees with our mawn.
= YWD MKYN NYY DAN 99T DYDY NHYN RPIT 9N 1D NN 29 923 NOINT

For here too (by 1271 7°%v 19¥) °''1 argues and maintains that she is 79109 only if
the owner brought the 95t upon her, however if the 7157 went up on his own she

1s still $79%w3, so just as °"1 argues with this ruling, the same can be said for X" that a 77
NN is 77vwo (if it was xYn 79 [but not if 727 9 79va]).

mooin offers an alternate explanation:
- 71P5 XN NHY NYYA NINITYI 139N NIV NIN INT NN 9093 ON

> It would seem from this answer that 7°2 X1 X2 means he does not have any benefit from it (he does not care about
it), but it does not necessarily mean that he actively does not want it. See footnote # 6.
% According to this answer 7°2 X1 X2 means he has an aversion to this happening (it is not sufficient that he does not
care one way or the other). See footnote # 5.
72"y 2" .
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Or you may also say; this which the mwn» says here 779105, this applies only
when the owner sees at the time of 7°»» and he is pleased with this act® —

mooin offers us a comparable ruling:
- “mv 993 N1 990 NNPYI JNDY VN INTIY (8, 97 PHINT KNP P193) awan %33 9NTS

As the X012 states regarding w277, ‘while the dew was still on the food and the
owner rejoiced, this is considered 30 9. However if -

- 11T NOAYT IS 90T 1IN0 992 10N 13N
It was dry from the v (it was no longer wet), it is not considered n1 52 (and is

not °w>on) for we require 0 (placed by itself) to be similar to yn°° (placed by the

owner); we require the knowledge of the owner at the time the food is wet for the %0 to be wan -
- Znnw a0 1199y HLN NYa Y1 NN ONRY 29 YY 9N

Even though if the owner would have known while the % was on the food he
would have rejoiced, nevertheless since he did not know at that time, it is not wan."

mooIn anticipates a difficulty:
= (x,m nov) NDIY NJHY P92 13999INRT NI

And regarding the xn>92 in 771219¥ 1793y P9 which states, “placing -
- ¥a1ay nywa XYY 192) 1Y NYYA Pa SO0 Y

A yoke is 201> whether during work or whether not during work; however placing -
- Batiay nywa NYN PHDID 1N B934 INY

Other things on the 715/723y are 210 only 77712¥ nYw3a, and seemingly the 137 775y 79y
is not for the purpose of work —

¥ However if the owner does not see the 7%y then all agree that she is not 79109 The dispute between 11271 X" is in
a case where she is N72wn but the owner did not see the %Y (according to the o°mdn she is 72109 because she is
n2wn and X" maintains that N12197 is not a 7109).
? Foods are not ixmv 2p» unless they first become wet with (certain) liquids. This process is called Axm %2p% Wwar
(fit to be AR Y2pn).
10 This is amended to read X,25 n"27 '2 p792 (on the very bottom).
but it is read 01 (it will be placed). We expound it (as we do here regarding 721¥) that 107 X217 1N just as 0 is
nvT?, so too N1’ must be NYTo.
2 Similarly here the 9109 of 727 7°9v 719¥ is only if the owner is aware of it at the time of the 79y; however finding
out later is no cause to invalidate it.
1t would seem that according to n9on first answer it makes no difference (by 731 7°9v 719v) whether the owner was
aware at the time or not; in all cases she is 79105 (according to the o»om). See ‘Thinking it over’.
' The yoke is 701 even it is placed without any intent to do work with it (he just needs a place to put it down).
" If a sack is placed on the animal it is only 50 if he intends for the animal to carry it somewhere, but if he merely
placed it on the animal it is not 2019. (The reason for this difference is because by 2 the 7710 states clearly X7 WX
21w hY 9y, even 179, placing it on the 719/723 is P019.)
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mooin replies:
153y 23WN N2 wRYN 19THY AN
This that the 227 is wnwn (mating) with the 7779 is considered 7712y NYw2.

SUMMARY

9 K1 or 2 X1 XY is judged by the act per se (regardless of any consequences
[regarding its qualification for a 7m17X 779]). 72 X1 X% can mean either he does
not care, or he is opposed.

X"7 (and °"1) may either dispute this miw»n and maintain that m¥y» 75 does not
disqualify a 727X 7779, or 1327 X"9 may maintain that the 9109 of 7°%¥ 7% is only if
it was o°%va nyT» (as by w>a7), while "1 maintains that even °9va nyT is
insufficient unless he was 7°9v 12177 X2,

231 7179V 79Y is considered T2y NYWA 7OX91 on account of the W w.

THINKING IT OVER

Why, according to nooin first answer,'” is the rule by 7m1x 719 different from
aw>or, that by 7w we require 0°7¥2 nv7 at the time of the 7w>:1, however by 7119 no
0°>ya nyT is required at the time of 731 by 79v?'

' The work (71989n) is the 1217 n*%y; the wnw of the 131 qualifies the work as 7712y nywa 7M.
17 See footnote # 13.
18 See 7"n 2"p 9 1" MoOW and P "7 X" O 7" 90 anA N
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